
Préparer son entrée en seconde : calcul numérique 2 : les puissances

Correction 1

a. 0,6512×104 = 6,512×105 est faux car :

0,6512×104×101×10−1 = 0,6512×10×104×10−1

= 6,512×103

b. 0,0021×10−2 = 2,1×10−5 est vraie car :

0,0021×10−2 = 0,0021×10−2×103×10−3

= 0,0021×103×10−2×10−3 = 2,1×10−5

c. 5 000×102 = 5×10−1 est faux car :

5 000×102 = 5000×102×103×10−3

= 5000×10−3×102×103 = 5×105

d. 561×107 = 5,61×109 est vraie car :

561×107 = 561×107×10−2×102

= 561×10−2×107×102 = 5,61×109

e. 0,000 000 023×10−1 = 2,3×10−9 est vraie car :

0,000 000 023×10−1 = 0,000 000 023×10−1×108×10−8

= 0,000 000 023×108×10−1×10−8 = 2,3×10−9

Correction 2

a. 37×38 = 37+8 = 315 b. 58×57 = 58+7 = 515

c. 3×311 = 31+11 = 312 d. 38×58 = (3×5)8 = 158

e. 412×512=(4×5)12=2012 f. 175×25=
(
17×2

)5
=345

Correction 3

a. 5,24×10 000 = 5,24×104 =
(
5,2×10

)4
= 524

b. 845×0,000 01 = 845×0,15 =
(
84×0,1

)5
= 8,45

Correction 4

a. 2−4×3−4 = (2×3)−4 = 6−4

b. 54×34 =
(
5×3

)4
= 154

c. 5,610×1010 =
(
5,6×10

)10
= 5610

Correction 5

a.
52

53
= 52−3 = 5−1 b.

7−3

75
= 7−3−5 = 7−8

c.
1222

12−12
= 1222−(−12) = 1222+12 = 1234

d.
2−5

2−12
= 2−5−(−12) = 2−5+12 = 27

e.
37

34
= 37−4 = 33 f.

83

8−5
= 83+5 = 88

g.
312

35
= 312−5 = 37 h.

7−9

710
= 7−9−10 = 7−19

Correction 6

a.
a5

a9
= a5−9 = a−4 b.

a12

a−5
= a12−(−5) = a17

Correction 7

a. 4 540 000 =
(
4 540 000×10−6

)
×106 = 4,54×106

b. 0,000 054 =
(
0,000 054×105

)
×10−5 = 5,4×10−5

c. 354,1×1011 =
(
354,1×10−2

)
×
(
1011×102

)
= 3,541×1011+2 = 3,541×1013

d. 79,8×10−8 =
(
79,8×10−1

)
×
(
10−8×101

)
= 7,98××10−8+1 = 7,98××10−7

e. 0,000 079×108 =
(
0,000 079×105

)
×
(
108×10−5

)
= 7,9×108+(−5) = 7,9×103

f. 0,005 2×10−4 =
(
0,005 2×103

)
×
(
10−4×10−3

)
= 5,2×10−4−3 = 5,2×10−7

Correction 8

a. 102×107=102+7=109 b. 1014×1021 = 1014+21 = 1035

c.
107

104
= 107−4 = 103 d.

1021

1014
= 1021−14 = 107

e.
(
104

)2
= 104×2 = 108 f.

(
103

)3
= 103×3 = 109

Correction 9

a. 52×55 = 52+5 = 57

b. 74×7−7 = 74+(−7) = 7−3

c. 5×5−4 = 51×5−4 = 51+(−4) = 5−3

d. 85×8−3×8−2 = 85+(−3)+(−2) = 80 = 1

e. 520×5−9 = 520+(−9) = 511
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